335/Phil 22-23/30614

B.A. Semester-I11I1 Examination, 2022-23

PHILOSOPHY [Honours]
Course ID : 30614 Course Code : AH/PHI1/304/GE-3
Course Title : Western Logic

Full Marks : 40

The figures in the right-hand margin indicate marks.

Time : 2 Hours

Candidates are required to give their answers in their
own words as far as practicable.
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1. Answer any five of the following questions:
2x5=10
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a)  What are the differences between argument and

argument form?

e a Ieq wEa s oldmel & [5e
b) Define empty class with the help of an example.
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d)

g)

h)
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Give Venn diagram: "All non-honest person are

unstable".
(TG AP T ¢ e S [ T b |

What is truth functional statement? Give an

example.
Sefieeiw (9o I e e Taiggel wie |

If 'PVQ' is false then what is the truth value of
'poq'?

Im 'pvaq’ Wep = iR, 'POq'-93 e
2(q°?

State the fallacy outcome from 'EIA-3'

categorical syllogism.
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Give definition of logic according to I. M. Copi.
I. M. Copi-93 (e (el Al ne |

What is the contradictory proposition of "Some

men are selfish"?
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Answer any four of the following questions: 5x4=20
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a)

b)

d)
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What is Conversion? Is Simple Conversion of
proposition "A" possible? Explain with example.
1+4=5

IS FIE @2 "A" I ATGT WS F A2
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What is "Existential Fallacy"? Explain with the

help of an example. 23+21=5
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Use the truth tables to determine the following
propositional forms whether tautology or self-

contradictory or contingent: 21x2=5

AOPTRAN ML e s goore;
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iy  p>[a(p.q)]
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What is the meaning of the term 'Distribution'?
Why does the predicate term always distributed

in a negative proposition? Explain. 2+3=5
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Give obversion of conversion of the followings:
21 x2=5

(v
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i)  Only scientists are progressive.
wYNIq [T@lfrig geifedeT |

i1)  Some philosophers are German.
fog v eisie |

What is standard form of Categorical Syllogism?
Name the fallacies committed and the rule
violated by the following syllogistic form:

2+3
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3.  Answer any one of the following questions:
10x1=10
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a) What is Existential Import? Explain the
existential import of A, E, I, O Propositions after
Modern logic. 2+8=10
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b) 1)  What is the denial of a self-contradictory

proposition? 2
G5 Fesfien IvawIEd Wy [ 9o7 2@ e

i1) Determine validity of the following
arguments with the help of truth tables:
4x2=8

STePTRAR ARy FEfiiie fewlm @l
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A) If Russia wins then NATO will not be
happy. NATO will be happy if and only
if Ukraine wins. Therefore NATO will
be happy or unhappy if either Ukraine

wins or Russia wins.
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B) A>SB
(A.B)oC
LADC

What are the types of Categorical

proposition by means of quantity according

to modern logician? 2
Sl Yfe et See, A SRpicE N
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Test the validity of the following by using

Venn diagram: 4x2=8
cedibaa AR WS Ty seyaers
[SERREREETE

A) He must be a student. For he goes to
college everday and only students go

to college every day.
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B)

Some philosophers are not Indian.
Because, some philosphers are

German and Indian are not German.
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